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N 620
Seat No.

 :— (i)

(ii)

(iii)

(iv)  1(A)]

1. (A) 4

(i) kx2 – 7x + 12 = 0 3 k = .......................

(A) 1

(B) –1

(C) 3

(D) –3
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(ii) x + 2y = 4 y = 1 x

(A) 1

(B) 2

(C) –2

(D) 6

(iii) t7 = 4 d = –4, a = ........................

(A) 6

(B) 7

(C) 20

(D) 28

(iv) GSTIN

(A) 9

(B) 10

(C) 15

(D) 16
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(B) 4

(i) 17x + 15y = 11 15x + 17y = 21, x – y 

(ii) tn = 3n – 2 

(iii) 100 150 

2% 

(iv) 2, 3, 5 

2. (A) 4

(i) (0, 2) 2x + 3y = k k

(0, 2)  2x + 3y = k 

� x = y = 

� 2 ×  + 3 × 2 = k

�              0 + 6 = k

�                  k = 
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(ii) 2 5 

� = 2 � = 5 

x2 – (� + �)x + �� = 0

� x2 – (2 + )x +  × 5 = 0

� x2 – x +  = 0

(iii) A B

A : 

B : 
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‘S’

S , HT, TH, �

A : 

� A , HT, TH�

B : 

� B �

(B) 8

(i) ABCD 

ax + by = c
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(ii)

x2 + x – 20 = 0

(iii) 19

7, 13, 19, 25, .......

(iv) 52 

(v)

8–10 150

10–12 500

12–14 300

14–16 50
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3. (A) 3

(i)

( )

0.5–3.5 33

3.5–6.5 40

6.5–9.5 27

9.5–12.5 18

12.5–15.5 12

 =  

�  =  + 
1 0

1 0

–

2 – –

f f
h

f f

� �
�� �

� �� �

�  = 3.5 + 
40 – 33

2(40) – 33 – 27

� � �� �� �

�  = 3.5 + 
7

3
80 – 60

� � �� �� �

�  = 

� .
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(ii) 2360

18% 

= 2360 

= 18%

x

�  = 
18

100
x�

�  = +  .... 

� 2360 =   + 
100

x�

� 2360 = 
100

x�

� 2360 × 100 = 118x

�           x = 
2360 100�

�
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(B) 6

(i)

3m2 – m – 10 = 0

(ii)

3x – 4y = 10, 4x + 3y = 5

(iii) 10 50 25 

30% 

(1)

(2)

(3)

(iv)

A :

B :
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4. 8

(i) 6 

5 

(ii)

)

20–40 25

40–60 65

60–80 80

80–100 15

(iii) 20 

40 60 2020
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5. 3

(i)

9,000 

(a)

(b)

(ii) x + y = 4 

(a) X Y 

(b)


